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GENERAL INSTRUCTIONS TO THE EXAMINEES :
(1) tterefl gy 379 gH-13 oA fari: o |
Candidate must write first his / her Roll No. on the question paper compulsorily.
(2) wft v FE AFEEE |
All the questions are compulsory.
(3) W T %1 T & 8 Fe-gfereR 8 4 o |
Write the answer to each question in the given answer-book only.
(4) F yoi i st @ve &, 37 ot & I T e e |

For questions having more than one part, the answers to those parts are to be written
together in continuity.

(5) yA-T*ERa it i 3 feredt s o) e/ e/ et A e fel e < e
I @ wE A |
If there is any error / difference / contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.
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g - A
SECTION - A

. wgieedt vy .
Multiple Choice Questions

(i) ﬁt-wmﬂﬁmaﬁm%@w@mz

(3F) A (@) - FeEE F
® SWwHIa

The main object of Not for profit Organisations is

A) T
Eci T{; Zan; profit (B) Public Welfare Work
0 business (D) None of the above

(if) TR o ¥ 3§ e

I TR T R |
() I\ @ R wem
@) Fru T wfive @ T wh
Partners are not entitled to recejve n the absence of partnership agreement :
(A) Salary

(B) Interest on capital
(C) Fees & Commission (D) All of the above

(iif) TieaieT @R R R

() =i am (@) EHE B G

(®) Tt @ @ THARETH

Nature of revaluation account is :

(A) Personal account (B) Nominal account

(C) Real account (D) None of these
(iv) FROT U 3% SR, FO Alm w2 e

3 8% @ 10%

@ 12% @ 14%

As per Table F, a company can pay interest on calls-in-advance at :-

(A) 8% (B) 10%

©€) 12% (D) 14%
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(V) St 2R §
() Fu & i (@) &wh ¥
(®) S % vy @) T |
Debenture hoiders are 1
(A) Owners of the company

(B) Customers of the company

(C) Loan providers of the company
(D) None of thege

(Vi) TR v < 90 A wfeafta Rt o o 3, weemy &

() Wil o () it FoT
(®) TS HE (8) uitaeHT o
The debentures which can be converted into equity Shares are calied : 1

(A) Redeemable debentures  (B) Registered debentures
(C) Bearer debentures (D) Convertible debentures

(vii) T3 & awan we it & ymp 39 goft 1 e it 3 wiefor At R
(30) g (%) it it
(@) s o g oh @ arRgh
Total amount of share capital in equity and liabilities part of the Balance Sheet 1
includes the following :
(A) Authorised capital
(B) Issued capital
(C) Subscribed & paid up capital
(D) Reserve capital

(viii) 0Tt < FweiReien tengfar 3 w3 ftow o Rufi 3, af il & ol 2 ) e T

& 7 fewn s
(31) RU@r (F) 09 Gl
(@) =F I EE (@) & @

In the case of issue of debentures as collateral security, if entry is passed, which
account will be debited ?

(A) Loan account

(B) Debenture account

(C) Debenture Suspense account

(D) Bank account
88-30-Accountanc - { Turn
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(ix) et forarom avf @ & | R S
(an) et % fee f‘“] 5
() g & e (@

ul for @
. {s are usefu
| statemen B) Managers

p (D) All of above
(C) Sharcholders

Financia

7
) ﬁnﬁ@ﬂwmaﬂwﬁﬂﬁ;ﬂﬁﬁmw
o @ I ET

(@) HTEEH H AR A

fits €XP

[lowing is not employe€ bet.u: i
(B) provident Func >~
f Gratuity

enses 7

Which of the fo d Contribution

(A) Salary

i nt O
(C) Repairs of Factory Machine(D) Payme

- gqﬂI{T-‘-ITGIIﬂT%?
(xi) emmﬁa%ﬁwmt{éwﬂﬂﬁ'@w

@) | ® 100

® Y @ i d total Liabilities are assumed to
In common size Balance sheet, total of Equity an

be equal to :

@A) 1 @) 100

(C) 10 (D) 1000

(xii) uﬁ365ﬁqﬁmﬁ$@mmmmmia% I
(31) w4 ) sitea sty
() sited HIEn AT
(@) it I S
(3) = WIEVI Ay
If 365 days is divided by the Trade Payable Turnover Ratio, it becomes a ratio of :
(A) Average age of Inventory
(B) Average Collection Period

(C) Average Payment Period
(D) Cheque Collection Period
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7 P g R :
Fill in the blanks :
() FEOREETASRE 3 (sm/em)
Interest on Drawingis _____ for firm. (Income / Expense) 1
(if) A <5 G et} g anfbemem ¢ et 2 | (g ot/ i gofy

The Maximum Capital written in memorandum of association of a company is

called___(Authorised Capital / Issued Capital) 1
(i) FRMRIRH R W2 (Fr/Radeha)
Rate of interest on debenturesis __ . (Fixed / Fluctuating) 1
(iv) & HoE B it gt e fen o 2, @t s frm @
(0% ) |
When debentures are issued at premium, Securities premium account will be
. (debited / credited) 1

(v) vafrfagem,  fowcor o A @ | (I / fedt)
Trend Analysis is the technique of _______ Analysis. (Cost/ Financial)
(vi) AT G & 0 I % w9 8 I A & | (30 4TG)
Liquidity ratio is also knownas___ Test ratio. (Acid / Metal)

3. fEgeeT 591 :
Very short answer type questions :

(i) e @) % A forg <t 1Tt 7 e @ o e fewr ot R |

Write the name of any two items which do not appear in Receipt and Payment
account. 1

(ii) ‘3 3t @ oF G 3:1 @Y wied §T ETHeR 8 |3 15 R F g w R
A 3 E, R w o AR | T -l I I E 2

A and B are partners in a firm, sharing profit in the ratio of 3:1. They admit C for

1/5 share of profits, which he acquires from A. New profit & loss share ratio will be 1
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(iii) - 31fm win a5y 37
AT |
Giv :
(iv) yv;;;z;aﬂmhg of Calls-in-advance.
REE RS

What 1S me
v) “@f ’ nvertible debentures .
A2 100 et 4,000, 9% FHTTH, 4% a3 | frfra ford | T K

A wfafe 4 |

PLtd.
d. issued 4000, 9% Debentures of T 100 €2

of issue of debentures.
(Vl) ‘qﬁ 3z S,DO,OUU%WWq{WWW’ m ]Q%ngﬁmé, H?f

O 35 e e ffrs o) o 2 7
% premium, what

If debentures of T 5,00,000 issued at pa, but redeemable at 10
will be the amount of premium on redemption of debentures

(vii) W fafiee 3 2 4,00,000 3ifHd 473 ¥ @d & FH, gel I § 3 e T %
for 7 92 i ST i G T R !mﬁ%ﬁrﬁaﬂﬂﬂmeﬁﬂﬁmﬂﬁq |

value of
benture. Calculate the amount

Give journal entry

ch at 4% discount.

7 4,00,000 from the

Manas Ltd. purchased its own debentures of the face

open market for immediate cancellation at Z 92 per de

of Gain on cancellation of debentures.
(viii)%ﬂmﬁmmﬁﬁﬁwﬂ 7
interest on debentures ?
(ix) m%mﬁﬂﬂﬁﬁaﬁaﬁﬁg@ﬁ?ﬁﬂﬁﬁ@%mm@ l
Name the two main financial statements prepared by a company.
(x) WWWWW@W% ?
Why do investors make analysis of Financial Statements ?
(xi) aﬁaawﬁﬁWﬁﬁmmﬁ !
rences between horizontal and vertical analysis.

7 T 4 & 7T gEh! T @ 3T A T 2,40,000 2,

What is the nature of

Give two diffe
(xii) TP ol &1 &
a1 5faa @4 2 7
ptory turnover ratio of a company is 4 and its cost of revenue from

The Inve
00, then average inventory will be ?

operations is 2,400
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7

GUE-§
- SECTION-B

Short answers type questions.

4. Trenes Tamatl @ == & ofi 5 e -sr ww # Rgrih o Aife

4
01-04-2019 THE I 15,000
T T == 5,000
31-03-2020 qHET I 6,000
iy W == 10,000
2019-20 T & ERH 50,000
ST ==
From the following informations, calculate amount of subscription, which will be shown
in Income and Expenditure Account. 2
4
01-04-2019 Subscription in Arrear 15,000
Subscription 5,000
received in advance
31-03-2020 Subscription in Arrear 6,000
Subscription 10,000
received in advance
Subscription received 50,000
during the  year
2019-20
fafer 3 7 2,000 TR Q ek Tg <t <

5. PaQﬁwﬁﬁmémélpmmﬁm
frfor 1 7 4,000 T =T SRRV LA € | FTET T 12%

377 T SHTEC W =TSt ! T Fiford |
P and Q are partners in a firm. P withdraws 7 2,000 at the beginning of each month.

Whereas, Q withdraws ¥ 4,000 at the end of each month during the whole year. Interest
Calculate the amount of interest on drawing at

i 2T Y e T A R | T

on drawing is charged @ 12% per annum.

the end of the year. 2
6. E g T 4,00,000 2 7 3T T T 60,000 TR HIHIA FAT 10% 2 | @

Wm%?ﬂqaﬁ%aﬁ%mmﬁmﬁhﬁ r

Capital of the firm is T 4,00,000. Normal rate of return is 10% and average profit of the

firm is ¥ 60,000. Goodwill is to be valued at three years purchase of super profits.

Calculate the value of Goodwill.

[ Turn over
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7.

10.

1.

12.

8
f:ﬁaj T S : 4 % s i emil 7 afed g A £ 1A
0 ot 8, o 7w ‘e @ 2/9 o @ 179 a8 A
ST & 1 ' 35 e s st A6
ey admit Z in the firm for 1/3+

Xand Y :
i are partners sharing profits in the ratio of 5:4. Th
FP . which he takes 2/9" from X and 1/9 from ¥ and brings T 1500 as goodwill
remium) in cash, Pass necessary Journal entries on 7’s admission.

sttergfir sffire ¥ 3% ¥ < s ferfiae |

Wri .
te any two uses of Securities Premium Amount.

g’ ®H 1 1/3 9 ey
500 77 BTt (o) %

arg e 3 e R @ ¢ 6,00,000 7 o i 79 H | g R 3 T 100 64 I
y ford, g feafires 1 I

sooomﬁsﬁaﬁzo%mmwwaﬁwgﬂ

# v el wiifeat ARR |
td. for T 6,00,000. Yaashu Ltd. issued

Yaashu Ltd. Purchased a machinery from Angel L =
5,000 Equity Shares @ T 100 each at 20% premium. Give necessary Journal entries in the

books of Yaashu Lid.

frrist farfirds ¥ T 10 &t 2 2 s siw shfirew wfe 15000 G FFET % T ST SATHLHT
fory | e 3TmIEA T T 60,000, 7 3 wfy 3w HT QA IHE | sifirer % weR %1 AW fafan
e v T ) e sy e, e afe i e ¥t I

Priyanshi Ltd. had invited application for 15,000 Equity shares of ¥ 10 each at a premium

of Z 2 each. The total application money received @ ¥ 3 per share was Z 60,000. Name
the kind of the subscription and give journal entry for application money received.

Calculate the number of shares applied for also. h[tps-.x’..-’www.rajasthunboard.com

wg’ fafee 4 ¥ lﬂGﬁB,OOO,?%WWWﬂ‘fﬁHﬁﬁ,WWS%W
mﬁm’él‘@%ﬂaﬁgﬁﬂﬁﬁﬁ?ﬁ?uﬁﬁﬁt’rﬁiﬁt

79, Debentures of T 100 each at par, which are repayable at 5%

S Ltd. issued 3000,
premium. Give journal entries for the issue in the books of S Ltd.

‘vag faafis’ 32 1,00,000 3R e % 1000 T F F0E F Get qR A T 97 W
e 3 3 fore 7 e | e ifafeat e | (e e sForer < 3ifReR e T 100 #)

X Ltd. purchased its own 1000 debentures of the face value of ¥ 1,00,000 from the open
market for immediate cancellation at ¥ 97. Pass journal entries. (If face value of each

debenture is T 100.)

SS-30-Accountancy



13. ﬁﬂrﬂaﬂwﬁhmm-sﬂﬂmw

() wEea g (i) o
Write the Head and Sub-Head of following items :
(i) Proposed Dividend (ii) Debenture

14, Frfeigs gematt @ g e fam i

15.

| ferm K

g TiE 00 | ]

RLall 6,00,000

| QpTef F 2,00,000

| I | 8,00,000
ot geaferat 6,40,000

e et 1,60,000

2 | 800,000

Prepare common size Balance sheet from the following information :-

|L Particulars F |

| Equity & Liabilities

' Equity 6,00,000
Long term Debt 2,00,000 |
| TOTAL | 8,00,000
Assets ‘

fFixed Assets | 6,40,000 |

Current Assets | 1,60,000
| TOTAL | 8,00,000 :

aft SRR W= € 40,000, T H9 7 1,00,000, TIu-5 T 10,000 B, T1 e R

735,000 B A #% TR A hl AT T W |

If opening stock T 40,000, Net purchases ¥ 1,00,000, Direct Expenses ? 10,000 and

closing stock is T 35,000, then calculate cost of goods sold.

$8-30-Accountancy
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10
16. W%ﬁ?@%ﬁmﬁazﬁu\nm% | gaeRt |Te] FIIA 3 - | 1 T AU 225 : 1
T (=) 1 9 R |

Current liabilities of Jatin Ltd. are 2 60,000, It's current ratio is 3:1 and Liquidity ratio is 2.25 ; 1,
Calculate the value of Inventories (Stock). ?

qg -4
SECTION-C
17, Frerferfon el @ ama-sg g & feard o A @yt i TR

01-04-2020  01-04-2021

@) ®)
R #1 wis 2000 800
R % R sien 1200 1200
R R AP Yy 400 600
¥ 2020-21 ¥ dhR Rt =t afdr g £ 10,000 |
Calculate the amount of Stationery to be shown in Income and Expenditure Account from
the following information : 3
01-04-2020  01-04-2021
() ()
Stock of Stationery 2000 800
Creditors of Stationery 1200 1200
Advance paid for 400 600
Stationery

Amount paid for Stationery during 2020-21 was ¥ 10,000.

18. T, gua 3t o w6 wH # 5:3:2 % UG § WRHER 8 | I W BH ¥ fdad aw
7 80,000 W it T & 7E ] | AR 3@ i A B A w2 @ B s 21 ¥
e o = wR | 76 2020-21 3 0w A 7 2,50,000 %1 wm i fora |
i 1 e -1f Pt =T |

Priya, Suman and Shalu are partners in the ratio of 5:3:2, A guarantee is given to Shalu
for a minimum profit of ¥ 80,000 per annum by the firm Any deficiency in that amount

will be borne by Priya and Suman in the ratio of 2:1. During the year 2020-21 the firm
earned a profit of ¥ 2,50,000.

Prepare P&L Appropriation A/c of the firm.
SS-30-Accountancy
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19.

21.

11

W AR Eﬁ?mﬁmmmﬁﬂaﬁmmﬁmﬁ | TR W W 174 e & Fore ok o
73 R 1B 3 i w R P ok e R

() ST I %1 9 w09 210,000 5 € 4,000 D wgran 308 |

(i) A F¥fts 0 g s € 1,0009 € 3,000 % 5w fran 9w |

(i) SFERY W T 2,000 W 3 F HRNH T I |

I T & o o e o e T |

A and B are partners sharing Profit and Loss cqually in u firm, They admitted C in the
firm for 1/4™ share. On admission of C, they take following decisions ;

(1) The value of Building and Stock is to be appreciated by ¥ 10,000 and ¥ 4,000
respectively.
(i) The value of fumiture and Machine is to be reduced by 2 1,000 and ¥ 3,000
respectively.
(i) Make a provision of ¥ 2,000 on debtors for bad debts.
Prepare revaluation account from the above information in the books of the firm.

TS ] ITIM 2.5:1, TR ST 1.6 : 1 aur Hedefe doft € 90,000 & 7 =e wwafva,
1] e ae R 1 e 91 AIRR |

If the current ratio is 2.5:1, Liquidity ratio is 1.6 : 1 and working capital is ¥ 90,000, find
the value of Current Assets, Current Liabilities and Stock.

@E-3
SECTION-D

‘W 3R T U EEEE AR 5 3 A § 1 FwH o v e % forg e
F 9 o 7 T g SR R R | g % 939 F g o  fget e R g o

[ gfm | () | waE )
EL R ( 50,000 ‘wﬁ:fﬂ 35,000
/aﬁq‘pﬁ 30,000 rﬁa{ 15,000

9 g9 16,000 [wi® 10,000
e | 4000 |d5 40,000
| [1,00,000 | [1,00,000

7 ¥ yaw A v R o

(i) T I R <t et e wnfer % form € 30,000 wmem |
(if) ¥ I T 1 AR AU T 8000 % cfi quT % 9 F FU Fm g |
(iii) TR, WA O Wi T GfearR HEN: T 30,000, T 12,000 6 ¥ 8,000 T e TN

g

I G @ FHvEF T VA R |

53-30-Accoun!ancy
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12

A and B share the profits of business in the ratio of 5:3. They admitted C into i:c t;!larrtr;t"or
1 4" share in profits which is to be contributed equally by A and B. On the of

admission of C, the Balance Sheet of the firm was as follows:
" Liabilities @ | Assets | _(E_]_
A'sCapital | 50,000 | Machinery | f:;ggﬁ
B's Capital . 30,000 | Furniture ’
General Reserve | 16,000 | Stock 10,000
Creditors 4,000 | Bank o _ﬂ_ﬂ&
T e M
»Uu, . B
Terms of C’s admission were as follows : T
- A1 b : - will.
(i) C will bring ¥ 30,000 for his share of capital and good ofit of 7 8,000,

(ii) Goodwill of the firm has been valued at 3 years purchase of the super p

(i) Machinery, Fumiture and Stock are revalued at ¥ 30,000, ¥ 12,000 and ¥ 8,000
respectively.

Pass necessary journal entries from the above information.

Fgar/OR
L,M3TNTE I 2:1:1ﬁamﬁzﬁgqm§lﬁﬁg,m§mqa(ﬁw
Srmom 13 01 3, 2021 A E AR At % o e

) 31 7T, 2021 St

ge @ (Fean)
aftm @) | wetm
S A 730,000 | SwEUEE 40,000
a9 20,000 TAER 20,000
I - Y 60,000 |
L 1,00,000 T : 80,000
M 60,000 7e 50,000 |
N 40,000 | 2,00,000 !
T 2,50,000 o 250,000
77 +f1 79 o T o — ‘ J
zq fafa %1 i &) @l %1 gedied 7 36,000 T fefam ma |

SS-30-Accountancy
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13
L, Mand N are partners in a firm sharing profits in the ratio of 2:1:1. Their balance

sheet as on 31% March, 2021 was as follows. They decide to share the profits equally
w.e.f. April 1, 2021,

Balance Sheet
Liabilities @ Assets | (3)
| Outstanding Salary | 30,000 |CashatBank | 40,000
' I
Reserve ~ 20,000 | Debtors 20,000
Capital : f Stock ' 60,000
'L 1,00,000 Furniture | 80,000
!
M 60,000 Plant L 50,000
N 40,000 | 2,00,000
2,50,000 | ©2,50,000
| S

It was also decided that :-

The goodwill of the firm at this date be valued at ¥ 36,000.

Prepare Partner’s Capital Account.

50 g A 3 7 10 ST 20,000 FHaT 9 B 10% S T Faie ¥ snae v st 5 |

uﬁrwméwa"r:
TR T 2 4 (fifirm afia), 567 W € 4 39 gow v SHfaw A W | 50,000 3 F fere

T T TR BT | 10,000 3771 3 fo7Q 3] Sireied o g A e T e Q| I
e T T AT W TR | ST ) e ST i o e & o s o 2 | fe
Ry 4,000 39T 3 Forq e R o1 He T W T SR I T ST T A I
I9F N Ted o Tl | T oft S 3 Sﬂﬁmﬁaﬁ@mm@gﬁwm |
Ff ot Qe W IAvER el W1 i |
$8-30-Accountancy { Turn over
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Sanjana Lid. invited applications for the issuc ol 20,000 equity shares of T 10 each

at 10% premium, The amount was payable as follows
On Application ¥ 4 (Including Premium), on Allotment T 4 and remaining of First

and Final calls,

Applications were received for 50,000 shares. Incomplete applications of 10,000
shares were cancelled and amount was refunded. Remaining applications were allotted on
Pro-rata basis. Excess application money is used for allotment. Vijay, who applied for
4,000 shares could not pay allotment and First and Final call money and his shares were

forfeited. All these shares were re-issued @ T 8 per share as fully paid up. Give necessary

Jjournal entries in the books of the company.

23. 9 B B wodes TP & sfer sffieit v, R e a1 3ifd A T 100 R
(i) 2,000, 7% F 2 100 w Firifere R T, en R € 110 TR G 26 T |
(i) 3,000, 9% VI T 105 T Frifiva i ST, T ST T 110 TG foban e |

Give journal entries in each of the following cases, if the face value of 2 debenture is
X 100 :
(i) 2000, 7% debenture issued at ¥ 100 and repayable at T 110.
(ii) 3000, 9% debenture issued at ¥ 105 and repayable at ¥ 110.
34a1/OR

BR 1. 3 7 10,00,000 3 9% sordai ohr futwt ey genrt e -

() % 5,00,000 3% 9% U] B 10% T2 T g {7 |

(i) sfraig . & T 2,25,000 WA 5 A, ITH FTA-ToRaTwT IHHI T 2,50,000 AR T
¥ 9% g foifa foed |

(i) & | T 1,25,000 %1 F fornm | grfeees wiawfer & &9 e & 1 T 2,50,000 % 9%
0T T T | Fraeht e geas! § wfafd i |

BR fi1. %) qeaw! o sHe wateal i |

SS-30-Accountancy
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BR Ltd. issued 9% debentures of ¥ 10,00,000 as follows -

(1) 9% Debentures of 7 5,00,000 at 10% discount for cash.

(ii) A machine of ¥ 2,25,000 purchased from Priyanshu Ltd. For the consideration of it,
9% debentures were issued with a nominal value of ¥ 2,50,000.

(if) Taken a Loan of ¥ 1,25.000 from Bank and deposited 9% Debenture of ¥ 2,50,000

as collateral security to the bank, which recorded in account books. Give Journal

entries in the books of BR Ltd.
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